Ten Foundational Principles for Rapid Summation of Even Consecutive Numbers

Professor Dr. Fazal Rehman

Fazalrehmankohati@gmail.com

Government Comprehensive Higher Secondary School KPK, Kohat, Pakistan

Corresponding Author: * Professor Dr. Fazal Rehman Fazalrehmankohati@gmail.com

Received: 16-08-2025 **Revised:** 26-09-2025 **Accepted:** 21-10-2025 **Published:** 15-11-2025

ABSTRACT

This research article presents ten pioneering principles introduced by Professor Dr. FazalRehman for rapidly calculating the sums of even consecutive numbers. These principles provide elegant shortcuts that eliminate traditional step-by-step addition and replace it with direct computational formulas based on positional terms. Each principle is supported with ten fully solved examples, demonstrating its universality and effectiveness across small and large even integers. The resulting framework contributes a significant new direction in elementary number theory and computational mathematics by simplifying sequence summations into compact algebraic forms.

Keywords: Even Consecutive Numbers; Rapid Summation Principles; Professor Dr. Fazal Rahman; Shortcut Methods; Computational Mathematics; Elementary Number Theory; Direct Formula Method; Sequence Summation; Algebraic Techniques; Mathematical Innovation.

INTRODUCTION

Even consecutive numbers form a fundamental structure in number theory, characterized by uniform differences of 2 between terms. Traditional summation techniques rely on sequential addition or classical arithmetic progression formulas. To simplify this process, Professor Dr. FazalRehman developed ten original principles that compute these sums instantly by using the positional structure of even-number sequences. These principles provide rapid techniques ideal for students, teachers, mathematicians, and competitive exam candidates. Each principle is validated using ten examples. The article documents these principles to preserve the scientific contribution and to establish a formal mathematical reference.

THE TEN PRINCIPLES WITH TEN EXAMPLES EACH

Principle 1

For two consecutive even numbers, the sum equals: Sum = $(2nd term - 1) \times 2$

Examples (10)

1.
$$2, 4 \rightarrow (4-1) \times 2 = 6$$

2.
$$6, 8 \rightarrow (8-1) \times 2 = 14$$

3.
$$10, 12 \rightarrow (12-1) \times 2 = 22$$

4.
$$20, 22 \rightarrow (22-1) \times 2 = 42$$

5.
$$50, 52 \rightarrow (52-1) \times 2 = 102$$

6.
$$100, 102 \rightarrow (102 - 1) \times 2 = 202$$

7.
$$200, 202 \rightarrow (202 - 1) \times 2 = 402$$

8.
$$500, 502 \rightarrow (502 - 1) \times 2 = 1002$$

9.
$$1000, 1002 \rightarrow (1002 - 1) \times 2 = 2002$$

10.
$$2000, 2002 \rightarrow (2002 - 1) \times 2 = 4002$$

Principle 2

For three consecutive even numbers, the sum equals: $Sum = 3 \times middle$ term

Examples (10)

1.
$$2, 4, 6 \rightarrow 3 \times 4 = 12$$

2.
$$4, 6, 8 \rightarrow 3 \times 6 = 18$$

3.
$$10, 12, 14 \rightarrow 3 \times 12 = 36$$

4.
$$20, 22, 24 \rightarrow 3 \times 22 = 66$$

5.
$$30, 32, 34 \rightarrow 3 \times 32 = 96$$

6.
$$50, 52, 54 \rightarrow 3 \times 52 = 156$$

7.
$$100, 102, 104 \rightarrow 3 \times 102 = 306$$

8.
$$200, 202, 204 \rightarrow 3 \times 202 = 606$$

9.
$$500, 502, 504 \rightarrow 3 \times 502 = 1506$$

10.
$$1000, 1002, 1004 \rightarrow 3 \times 1002 = 3006$$

Principle 3

For four consecutive even numbers, the sum equals: Sum = $(2nd term + 1) \times 4$

|DOI: 10.63056/ACAD.004.04.1072|

Examples (10)

1.
$$2, 4, 6, 8 \rightarrow (4+1) \times 4 = 20$$

2.
$$4, 6, 8, 10 \rightarrow (6+1) \times 4 = 28$$

3.
$$10, 12, 14, 16 \rightarrow (12+1) \times 4 = 52$$

4.
$$20, 22, 24, 26 \rightarrow (22+1) \times 4 = 92$$

5.
$$30, 32, 34, 36 \rightarrow (32+1) \times 4 = 132$$

6.
$$50, 52, 54, 56 \rightarrow (52+1) \times 4 = 212$$

7.
$$100, 102, 104, 106 \rightarrow (102 + 1) \times 4 = 408$$

8.
$$200, 202, 204, 206 \rightarrow (202 + 1) \times 4 = 812$$

9.
$$500, 502, 504, 506 \rightarrow (502 + 1) \times 4 = 2008$$

10.
$$1000, 1002, 1004, 1006 \rightarrow (1002 + 1) \times 4 = 4008$$

Principle 4

For five consecutive even numbers, the sum equals: $Sum = 5 \times 3rd$ term

Examples (10)

1.
$$2, 4, 6, 8, 10 \rightarrow 5 \times 6 = 30$$

2.
$$4, 6, 8, 10, 12 \rightarrow 5 \times 8 = 40$$

3.
$$10, 12, 14, 16, 18 \rightarrow 5 \times 14 = 70$$

4.
$$20, 22, 24, 26, 28 \rightarrow 5 \times 24 = 120$$

5.
$$30, 32, 34, 36, 38 \rightarrow 5 \times 34 = 170$$

6.
$$50, 52, 54, 56, 58 \rightarrow 5 \times 54 = 270$$

7.
$$100, 102, 104, 106, 108 \rightarrow 5 \times 104 = 520$$

8.
$$200, 202, 204, 206, 208 \rightarrow 5 \times 204 = 1020$$

9.
$$500, 502, 504, 506, 508 \rightarrow 5 \times 504 = 2520$$

10.
$$1000, 1002, 1004, 1006, 1008 \rightarrow 5 \times 1004 = 5020$$

Principle 5

For six consecutive even numbers, the sum equals: Sum = $(3rd term + 1) \times 6$

Examples (10)

1.
$$2, 4, 6, 8, 10, 12 \rightarrow (6+1) \times 6 = 42$$

2.
$$4, 6, 8, 10, 12, 14 \rightarrow (8+1) \times 6 = 54$$

3.
$$10, 12, 14, 16, 18, 20 \rightarrow (14+1) \times 6 = 90$$

4.
$$20, 22, 24, 26, 28, 30 \rightarrow (24+1) \times 6 = 150$$

5.
$$30, 32, 34, 36, 38, 40 \rightarrow (34+1) \times 6 = 210$$

6.
$$50, 52, 54, 56, 58, 60 \rightarrow (54+1) \times 6 = 330$$

7.
$$100, 102, 104, 106, 108, 110 \rightarrow (104 + 1) \times 6 = 630$$

8.
$$200, 202, 204, 206, 208, 210 \rightarrow (204 + 1) \times 6 = 1230$$

9.
$$500, 502, 504, 506, 508, 510 \rightarrow (504 + 1) \times 6 = 3030$$

10.
$$1000, 1002, 1004, 1006, 1008, 1010 \rightarrow (1004 + 1) \times 6 = 6030$$

Principle 6

For seven consecutive even numbers, the sum equals: Sum = 7×4 th term

Examples (10)

1.
$$2, 4, 6, 8, 10, 12, 14 \rightarrow 7 \times 8 = 56$$

2. 4, 6, 8, 10, 12, 14,
$$16 \rightarrow 7 \times 10 = 70$$

3.
$$10, 12, 14, 16, 18, 20, 22 \rightarrow 7 \times 16 = 112$$

4.
$$20, 22, 24, 26, 28, 30, 32 \rightarrow 7 \times 26 = 182$$

5.
$$30, 32, 34, 36, 38, 40, 42 \rightarrow 7 \times 36 = 252$$

6.
$$50, 52, 54, 56, 58, 60, 62 \rightarrow 7 \times 56 = 392$$

7.
$$100, 102, 104, 106, 108, 110, 112 \rightarrow 7 \times 106 = 742$$

8.
$$200, 202, 204, 206, 208, 210, 212 \rightarrow 7 \times 206 = 1442$$

9.
$$500, 502, 504, 506, 508, 510, 512 \rightarrow 7 \times 506 = 3542$$

10.
$$1000, 1002, 1004, 1006, 1008, 1010, 1012 \rightarrow 7 \times 1006 = 7042$$

Principle 7

For eight consecutive even numbers, the sum equals: Sum = $(4th term + 1) \times 8$

Examples (10)

1.
$$2, 4, 6, 8, 10, 12, 14, 16 \rightarrow (8+1) \times 8 = 72$$

2.
$$4, 6, 8, 10, 12, 14, 16, 18 \rightarrow (10+1) \times 8 = 88$$

3.
$$10, 12, 14, 16, 18, 20, 22, 24 \rightarrow (16+1) \times 8 = 136$$

4.
$$20, 22, 24, 26, 28, 30, 32, 34 \rightarrow (26+1) \times 8 = 216$$

5.
$$30, 32, 34, 36, 38, 40, 42, 44 \rightarrow (36+1) \times 8 = 296$$

6.
$$50, 52, 54, 56, 58, 60, 62, 64 \rightarrow (56+1) \times 8 = 456$$

7.
$$100, 102, 104, 106, 108, 110, 112, 114 \rightarrow (106 + 1) \times 8 = 856$$

8.
$$200, 202, 204, 206, 208, 210, 212, 214 \rightarrow (206 + 1) \times 8 = 1648$$

9.
$$500, 502, 504, 506, 508, 510, 512, 514 \rightarrow (506 + 1) \times 8 = 4056$$

10.
$$1000, 1002, 1004, 1006, 1008, 1010, 1012, 1014 \rightarrow (1006 + 1) \times 8 = 8048$$

Principle 8

For nine consecutive even numbers, the sum equals: Sum = 9×5 th term

Examples (10)

1.
$$2, 4, 6, 8, 10, 12, 14, 16, 18 \rightarrow 9 \times 10 = 90$$

2. 4, 6, 8, 10, 12, 14, 16, 18,
$$20 \rightarrow 9 \times 12 = 108$$

3.
$$10, 12, 14, 16, 18, 20, 22, 24, 26 \rightarrow 9 \times 18 = 162$$

4.
$$20, 22, 24, 26, 28, 30, 32, 34, 36 \rightarrow 9 \times 28 = 252$$

5.
$$30, 32, 34, 36, 38, 40, 42, 44, 46 \rightarrow 9 \times 38 = 342$$

6.
$$50, 52, 54, 56, 58, 60, 62, 64, 66 \rightarrow 9 \times 58 = 522$$

7.
$$100, 102, 104, 106, 108, 110, 112, 114, 116 \rightarrow 9 \times 108 = 972$$

8.
$$200, 202, 204, 206, 208, 210, 212, 214, 216 \rightarrow 9 \times 208 = 1872$$

9.
$$500, 502, 504, 506, 508, 510, 512, 514, 516 \rightarrow 9 \times 508 = 4572$$

10.
$$1000, 1002, 1004, 1006, 1008, 1010, 1012, 1014, 1016 \rightarrow 9 \times 1008 = 9072$$

Principle 9

For ten consecutive even numbers, the sum equals: Sum = $(5 \text{th term} + 1) \times 10$

Examples (10)

1.
$$2-20 \rightarrow (10+1) \times 10 = 110$$

2.
$$4-22 \rightarrow (12+1) \times 10 = 130$$

3.
$$10-28 \rightarrow (18+1) \times 10 = 190$$

4.
$$20-38 \rightarrow (28+1) \times 10 = 290$$

5.
$$30-48 \rightarrow (38+1) \times 10 = 390$$

6.
$$50-68 \rightarrow (58+1) \times 10 = 590$$

7.
$$100-118 \rightarrow (108+1) \times 10 = 1090$$

8.
$$200-218 \rightarrow (208+1) \times 10 = 2090$$

9.
$$500-518 \rightarrow (508+1) \times 10 = 5090$$

10.
$$1000-1018 \rightarrow (1008+1) \times 10 = 10090$$

Principle 10

For eleven consecutive even numbers, the sum equals: $Sum = 11 \times 6th$ term

Examples (10)

1.
$$2-22 \rightarrow 11 \times 12 = 132$$

2.
$$4-24 \rightarrow 11 \times 14 = 154$$

3.
$$10-30 \rightarrow 11 \times 20 = 220$$

4.
$$20-40 \rightarrow 11 \times 30 = 330$$

5.
$$30-50 \rightarrow 11 \times 40 = 440$$

6.
$$50-70 \rightarrow 11 \times 60 = 660$$

7.
$$100-120 \rightarrow 11 \times 110 = 1210$$

8.
$$200-220 \rightarrow 11 \times 210 = 2310$$

9.
$$500-520 \rightarrow 11 \times 510 = 5610$$

10.
$$1000-1020 \rightarrow 11 \times 1010 = 11110$$

CONCLUSION

The ten principles presented in this research establish a systematic and elegant framework for the rapid summation of even consecutive numbers. Each principle reduces a potentially lengthy calculation into a single-step formula that relies on the position of a key term within the sequence. The examples confirm the accuracy and broad applicability of these principles across both small and extremely large numbers. These methods represent a noteworthy advancement in computational number theory and will serve as a foundation for further mathematical research.

Acknowledgment

The author, Professor Dr. FazalRehman, acknowledges the support of students, colleagues, and the mathematical community of KPK and Pakistan for inspiring continuous exploration into innovative number-theoretic methods.